Regular Physics     Chapter 11 Test  D            Name _______________________________

1. The fulcrum is at the 50 cm mark. The known mass (745 grams) on the left is located at the 24 cm mark. What is the mass of the unknown object or the right which is located at the 84 cm mark?   ___________________
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2.
The fulcrum is located at the 77 cm mark.  A mass of 487 grams is located at the 91 cm mark. Calculate the mass of the uniform meter stick.

__________________
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3.
The fulcrum is located at the 71 cm mark. A meter stick of 161 grams has an unknown mass on the left at the 24 cm mark and a known mass on the right of 879 grams located at the 86 cm mark. What is the mas of the unknown object?


_______________
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 4. The fulcrum is located at the 50 cm mark. The mass at the left (54 grams) is located at the 14 cm mark. A second mass on the left (87 grams) is located at the 38 cm mark. The unknown mass on the right is located at the 92 cm mark. What is the mass of the unknown object. 

_______________
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